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3amauga S-36.1.

F =10 xH, M; =128 xHwm, My = 112 xHwm,
p=2xH/m, cosa =0,8.
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3amaua S-36.2.
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F =10 xH, M; = 236 xHwm, Ms = 309 xkHwm,
p=2xH/m, cosa=0,8.
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F =15 «H, M; = 80 xHwm, My = 336 xHuwm,
p=2xH/m, cosa =0,8.
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F =15 «H, M; =122.5 xkHwm, My = 90 xkHwm,
p=3xkH/m, cosa=0,8.
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F =5x«H, M; =63 xHwm, My = 2 xHwm,
p=2xH/m, cosa =0,8.
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F =10 xH, M; = 68 xkHw™m, My = 97 xHwm,
p=2xH/m, cosa =0,8.
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F =5«H, M; = 55.5 xHwm, My = 583.5 kHwm,
p =3 kH/m, cosa =0,8.
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F =10 xH, M; = 88 xHwm, My = 605.5 kHwm,
p =3 xkH/m, cosa =0,8.
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3amaua S-36.9.

*\
4 1, 4 M

F=5«H, M; =62.5 xHm, My = 130 xHuwm,
p =3 kH/m, cosa =0,8.
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F =10 xH, M; = 88 xHwm, My = 93 xHw,
p=2xH/m, cosa=0,8.
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F=5xH, M; =175 xkHwm, My = 336 xHwm,
p=2xH/m, cosa =0,8.
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F =5x«H, M; =186 xHwm, My = 43 xHwm,
p=2xH/m, cosa =0,8.
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F =5«H, M; =61 xHwm, My = 405 kHwm,
p=2xH/m, cosa =0,8.
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3amaua S-36.14.
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F =5«H, M; =93 xHu, My = 20 xHa,
p=2xH/m, cosa=0,8.
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F =10 xH, M, = 148.5 xHu, My = 138.5 xHa,
p =3 kH/m, cosa =0,8.
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3amaua S-36.16. 18

’]»}2

5

F =15 xH, M; =60 xHwm, My = 50 kHwm,
p=2xH/m, cosa=0,8.
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F =10 xH, M; = 24 xHwm, My = 21.5 xHw,
p=1xH/m, cosa =0,8.
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F =5«H, M; =139 xHwm, My = 62 xHwm,
p=2xH/m, cosa=0,8.
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F =10 xH, M; = 137 xHwm, M = 605 xHwm,
p=2xH/m, cosa =0,8.

18

3amaua S-36.20. 18

RN

e

Bpg— e A 1

4 5 . 4

F =5x«H, M; =160 xHm, My = 234 xHwm,
p=2xH/m, cosa =0,8.
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F =15 xH, M; = 65 xHwm, My = 365 xHu,
p=2xH/m, cosa =0,8.
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F =15 «H, M; = 26 xHwm, My = 566.5 xkHwm,
p=3xkH/m, cosa =0,8.
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F =10 xH, M; = 106 xHwm, My = 61 xHwm,
p=2xH/m, cosa =0,8.
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F =15 xH, My = 40.5 kHm, Ms = 16 xHwm,
p=1xH/m, cosa=0,8.
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F=5«H, M; =181.5 kHwm, My = 13.5 kHwm,
p =3 kH/m, cosa =0,8.
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F =5«kH, M; = 32 xHwm, Ms = 48 xHwm,
p=2xH/m, cosa=0,8.
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F =15 xH, M; = 390 xHwm, M> = 384 xHwm,
p =3 kH/m, cosa =0,8.
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3amaua S-36.28.
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F =5x«H, M; =55 xHwm, My = 114 xHwm,
p=2xH/m, cosa =0,8.
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F =15 «xH, M; = 250 kHwm, M = 538.5 xHu,
p =3 xkH/m, cosa =0,8.
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F =15 «H, My = 3 xHwm, Ms = 2 xkHuw,
p=2xH/m, cosa=0,8.
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Taxxenag coctTaBHag paMa U3 JBYX

yacTeil
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Ne Xa Ya XB Ys ZMC:O ZMBZO
1 10 -5 |8 93 | —4X4+4Y4+20=0, | -9X4+4Y4+20=0
2 —26 | —6 | 34 60 | 4X4+4Y,+128 =0, X4+15Y44+64=0
3 | —24 |11 36 34 | 3Xa+4Y4+28 =0, TXA+14Y4+14 =0
4 |0 —4 —12 1 79 —5X4—4Y, — 16 =0, —9X4—4Y, —-16 =0
5 | =5 |0 9 95 | —8X4+3Y4—40=0, | -4X4+4Y4—-20=0
6 |6 -2 —14 | 52 | 4X4 —4Y, —32=0, X4—5Y,4—-16=0
7T |21 3 =25 |75 | —=5Xa4—3Y4+114=0, | X4 —12Y4+57=0
8 | 22 3 —30 |75 | —=5X4—4Y4+122=0,| X4 —13Y4+61=0
9 |10 ) —4 |76 | —4X4—4Y4+20=0, | X4 —4Y4+20=0
10 | 1 -5 7 51 —4X4+4Y4+24 =0, —9X4+3Y4+24=0
11 ] 25 -1 —29 | 50 | bX4 —3Y, — 128 =0, 2X4—14Y, —64 =0
12| -7 |0 11 99 | 8X 4 +05Yy + 56 =0, 4X4+6Y4+28=0
13 | 10 4 —14 149 | =5X4—5Y4+70=0, | X4 —15Y4+70=0
14 |1 3 —5 |44 | 4X4—-4Y4+8=0, TXA—5Y4+8=0
15| 7 —13 | —15] 100 | —=5X4 —5Y4 —30=0, | —=9X4—6Y, —15=0
16 | 8 13 —20 | 28 | 5X4 —4Y4, +12 =0, 9X4 —6Y4+6=0
17 |1 3 7 15 | —4X,4+4Y, —8 =0, X4+3Y,—-8=0
181 -7 | -1 |11 50 | 5X4 4+ 0Yy +40 =0, 2X4+6Y4+20=0
191 -26 |0 34 58 | —8X 4 +4Y4 —208 =0, | —4X4+15Y4, —104 =0
20| —22 | -2 | 26 47 | 4X4+4Y4+96 =0, Xa+13Y4+48=0
21 | 10 -3 —22 | 48 —4X4—5Y, +25=0, —7X4—15Y4+25=0
22 | =25 | =11 | 37 83 —5X4+3Y4 —92=0, —8X4+14Y4 —46=0
23 | —11 | —12 | 19 60 | —4X4+5Y4+16=0, | —8X,4+8Y4+8=0
2410 4 12 12 | 4X 4+ 5Y4 —20 =0, 8X4+5Y4—20=0
25 |1 -4 | =5 |73 | —4X4—4Y,4 —12=0, | —8X4—5HY, —12=0
26 | 8 0 —12 | b7 | —8X4 —4Y4+64=0, | —4X4—6Y4,+32=0
27 | 21 0 —33 190 | 10X4 —5Y4—210=0, | bX4—13Y4 —-105=0
281 -1 | =3 | =3 |50 | =3X4—4Y4—15=0, | —6X4—3Y4—15=0
2919 4 —21 | 71 | 5bX4 —5Y4 —25=0, 9X4 —14Y4 —25=0
30 |1 4 —13 (39 |3X4—4Y,4+13=0, 7TX4—5Y4+13=0
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